i A e i AT Chyy nmwzmmn
HSC %5

45324
O HEANEESHZERHBREMCEEIREEENE
BEEF

O EEIDE Es“’ B EL{EENRS, EE T RITIEP B e E
RETRIAE BAEREBE TR ERBIRGE 4.
O BIREENRERFBORBRERREZLSE.

B] LAfE P18 ER 25D PB% 71)

Mg R ETEE S = e85 e R BE B

Al €] 925 | ¢32 | 940 | 450 | 463

# /A 17 | 9mm 11mm 13mm HSQ-&Q-ﬁ-B-QQ

T B 17 # | 13mm 15mm 17mm 1 2 3 4 5

& B & 8 &R E =

BARIEEBD 100kgf/cm2 11 & 5 | HSC: B & AL

ThEBHER 5~70kgf/cm? 2| FIBERIE | #25, $32, 40, 50, $63

A5 A L EEL 3| B M S:¥8.D W8

# A B E Z#90° (RET4I0° , 45° = 60° ) 4| @AKEM |R: A8 L: £8@

f£E & 5 X BENE 5| BABE | 90° (AJETHI0° , 45° = 60°)

RimRIEH
Ly NP N =1y S = = s fE & A & 73 kg/mm?2

FIERAIEmm | JEEARAREMm | SZEEFRmm? 5 3 10 20 30 20 50 0 70
25 18 2.37 7 10 24 47 71 95 119 142 166
32 20 4.9 12 18 49 98 147 196 245 294 343
40 22.4 8.63 1 32 86 173 259 345 432 518 604
50 28 13.47 33 49 135 269 404 539 674 808 943
63 35 21.55 56 84 216 431 647 862 1078 | 1293 | 1509

BR~TE ¢625~ ¢63

y @o v G

to-—Ep—ofmv -
Yy o Yy o4

[\

4-L K 4-L
J
G2
F G1 ) E3
T - N ™
1:10,[ | o ;@ o
I — | =
sl | E2 !
E1 w,| 4(01 i @
| =
: o » B
@7 IS O=w |
!¢| < 191 <
| m i m
| 0 p—
@M! © | =M o
I I
ASEHRTL
B: R B 7L
B 2 R T # | A1 | A2 | A3 B | C[D1|/D2| D3 E1 E2 E3 F[G1{ G2 | H | J K L M
HSC-25 22 [101[124] 120 | 77 [27[ 15[ 27| 019 | M10x1.5 | 8 [M14x1.5[10]50][140] 9 | s46] 52| 40 | ¢ 6.8[G1/8
HSC-32 26 1151140 |137.2| 85 (30|17 ) 31| [122.2] M10x1.5 | #8 [ M16x1.5|10[55[160[(10| #50| 56 | 44 | $6.8(G1/8
HSC-40 26 120 | 148 [142.2| 90 | 30|18 (31| [122.2 | M10x1.5 | $10|M18x1.5|10|60]|160| 10| ¢#54| 63 | 48 9 |G1/8
HSC-50 30 134 | 166 | 159.2(100| 34 [ 20 [ 37| [125.4 | M12x1.75| $ 12| M20x1.5| 12 [65]|180| 12| ¢66 | 72 | 57 | #9 |G1/4
HSC-63 30 139 | 175(170.8( 105|341 23 (48| [131.8| M16x2 | ¢ 15| M26x1.5|15]|75]|200|15| ¢80| 88 | 70 [ 11 |G1/4

D-16



